prob5.java

/* Problem 5--Tribute List
There is a simple formula for this one: (2n)!/ (2"n). Since the
numbers can get very large, | used Java's Bigint eger class. */

import java .io .*;
import java . util .*;
import java . math. *;

public class prob5 {

private static Scanner in = null ;
private static PrintWriter out = null ;
private  static int ¢cs = 0;

public  static void main (String [] args ) throws Exception {

in = new Scanner (new File ("prob5.in" ) ;
out = new PrintWriter ("prob5.out" );

while  (true ) {

int sz = in.nextint () ;

if (sz==0) break ;
Process (sz); //Process data case
in . close () ;
out .close () ;
[* Process computes the formula for each data case */
public  static void Process (int sz) throws Exception {
BigInteger ans = Biginteger . ONE;
for (int i = 2; i <= 2*sz; |i++)
ans = ans. multiply (new Biglnteger ("™ +i));
ans = ans.divide (new Biginteger ("2" ). pow(sz)) ;
out . println ("Case" +(++cs)+": There are™ +ans +
" possible orderings." );
}
}
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